Operaciones con Nimeros Duodecimales (I)

452419

X 1719

768912

+ 3B2012

456B19

— 40409

29499

+ B9171,

988419

— 353019

Calcule cada respuesta.

840519 716219
+ 566012 X 4719
AATA 26675012|A41,
+ 731719

46981, 10269015182

X 949

47521, 15494,
— 27A519 — 6BB612

14335 62363A15|BA;»
+ 263812

24B51,
+ 94081,

239612
X B9q9

90BAO12|9A 1,

765012
+ AA8Bj,

11535
+ 8B2B»
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Operaciones con Nimeros Duodecimales (I) Respuestas

452419

X 1719

7035A1,

768912

+ 3B2012

B5A9,

456B19

— 40409

52B15

29495

+ B9171,

126645

988419

— 353019

635415

Calcule cada respuesta.

840512

+ 566012

11A651,

AATA19

+ 731712

161951,

469812

X 9412

36762819

475219

— 27A519

1B69,

143315

+ 26389

3A6B1

716219

X 4719

287B3219

26675015|A415

2B59;5

10269015[1819

73B3;5

15A9A5

— 6BB612

AAA4

62363A1|BA 1

634119

24B51,
+ 94081,

B9015

23961
X B9q9

23267612

90BAO;2|94A15
B10;,

765012
+ AA8B>

1651B,

1153,
+ 8B2Bys

20825
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